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4 ' Attempt five questions in all. Question No.1 is compulsory.
h Attempt any four questions from question Nos. 2 to 8.
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t\)te 2 Answers may be written ezther in Engllsh or in Hindi: but the same medium should be
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lDistinguish between any two of the following : AN 4 : 15
i} (a) Noinjnai income and Reél in_coh‘re |

?1 (b) Commodity Méney apd Fiat Money ‘

(c) - Aggregate demand and Aggregate outp}n

‘[ (d) Actual and Planned Investment. :
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(a) Explain the- equality of aggregate demand and aggregate output in deter‘minjng the

equilibrium level of income.
(B)7 IF € = S0 TSR
(/) derive savings function.

(i) At what level of income savings become zero ?

~ (iii) If autonomous investment is Rs. 200 crores. at what level of income saving -

will become equal to investment ? Show it diagrammatically. 7.8
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Explain the deteﬁninants of the changé in net export function. If MPS = 0.2 and
MPM = 0.1, calculate import multiplier. Y0 o
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(a) - Explain the process of credit creation under the multiple banking systems.

(b) You are given this account for a bank with the 'Required reserve ratio' equals to °

10 percent : : v ' ' . 7.8
Assets : O - Liabilities '
Reserves Rs. 500 |  Deposits Rs. 3,500 -
| Loans Rs. 3,000
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(i) How much is the bank requlred to hold as reserves give
| Rs 3500 2
.(_z‘z.') vHow much are its excess reserves ?
Y (iii') By how much can the bank Increase 1ts loan 7
(iv)

How much s the total deposit Created ?




